TExercise 2 page 172 (7-B)
Listen about the London Eye, then choose the right answer (a, b or c).

1. The London Eye is ... metres high.
a) 120
b) 135
c) 140
2. Ithas ... capsules.
a) 32
b) 30
Cc) 42
3. Each capsule can hold ... people.
a)5
b) 15
c) 25
4. It takes ... minutes to make a full circle.
a) 20
b) 30
c) 40
5. You can choose to take aride ... .
a) only by day
b) only by night
c) by day or by night
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The London Eye is ... metres high.
a)120 Db) 135 c¢) 140

It has ... capsules.
a) 32 b) 30 c) 42

Each capsule can hold ... people.
a)5 b) 15 c) 25

It takes ... minutes to make a full circle.

a) 20 b) 30 c) 40
You can choose to take aride ... .
a) only by day b) only by night

c) by day or by night



